www.PicnicTableSupplier.com

www.UBrace.com

icFurniture.com

Picn

www.ParkTables.com

www.FurnitureLeisure.com  www.PoolFurnitureSupply.com

WWww

FURNITURE LEISURE INC
1.800.213.2401

Ly
=
=
(o'
O
a1
L
|
<
=
<
e
(V1]
=
[a]
(&5
a
O
] &
o
LLi
oc
<
=
(o]
v
©
4

2
2
s

.
L]

SPEC SHEET

Wt. 265 |bs

top view

80"

46 "

[ A FE AP
RHRRXAK
o2ete 0% %%
2olele %000 %6 %%
ealuleletaled
SORALIRS

@1.75"

45 L

80 n




side view

2II
29.250"

l
C— L L =11
o o

| L /] (N 4|

. \\ ./ (e, v/ ‘\-.L _-";
. — 26.375" i

Construction:

- Seats and tops - 9 gauge steel

- 2"tubular understructure

« Understructure - galvanized steel
« Understructure finish - black

Coated Surfaces:

« Thermoplastic coated

« Copolymer-based,
environmentally safe

« Does not fade, crack, peel warp

« Applied at a thickness of polyester powder coated
25-30 mils. « Muts, washers and bolts -

« 5 Year warranty on coating galvanized steel

mounting types

P = Portable : no mount

SM = Surface Mount: (=1
concrete anchors B
through discs welded T
to legs

1G= In-Ground:

J-rods set in concrete
through discs welded
tolegs =

portable
5 g
- O e surface mount

T -'/'m—g round




FURNITURE LEISURE INC. Assembly Instructions

OUR LIST DF WEB STORES

w.FumitureLeisure.com  www.PoolFumituresupply.com Sjuare Picnic Tables (T465Q, T465Q-CHILD, T465SQ-PERF)

nw.PicnicFurniture.com www. PicnicTableSupplier.com

w.ParkTables.com  www.UBrace.com Surface Mount (SM), Portable (P), Inground (IG)

1.800.213.2401 Always inventory the hardware shipped with your product.
Product is best assembled upside down. Bolts should be left unsecured
until product is upright & leveled. Assembly requires 2-1/2" wrench.

Hardware List
Portable (P), Surface mount (SM)
1-46" Mesa
1-46" Square Table top 4 -Sillas
4 - Seats 8 - Patas
8- Legs (4 left; 4 right) (4 lzquierda; 4 Derechas)
1-Cross PGCE . 1 - Brazo de refuerzo
28-501 5“ x 1/4" Bolts 28 -5/16" x 1/4" Tornillos
28-5/1 6“ Nuts 28-5/16" Tuercas rﬂ
56-5/16" Washers 56-5/16" Rondanas
1 Surface Mount (SM)

=]
anchor bolt.

Portable (P) ‘ ‘

Note; Holes on frame of legs, seats and table tops
allow for micro adjustments.

Surface mount tabs,

Step 7:

Place table in desired location,
mark through center hole of tabs.
Drillthammer drill) and mount
screws with 2.5" x 3/8" sleeve

Step 1: L\\\
F \\W@‘ '\.

Turn table top upside down. Loosely =

attach legs to any corner slot of table frame making \\ ' \

sure brace tabs face one another in the corners. \\\

-

“'/ﬁ" square Table top ;
Step 2: \i Upside down view. ' __ anc Lh-:)r b:::-lts {nOt ptowdEd) e
Loosely attach and leg to frame nearest 17 | | In ground Mount (IG)
the corner of the first leg. by ) [l =
| e | B Additional Hardware;
Step 3: 2- 16" Solid steel rods.

Align leg tabs to each other and cross brace,
cross brace should be to the inside of tabs, and
loosely secure.

Enterrada en el Piso
Componente Adicional;
J 2- 16" Barrillas de Acero

Step 4: : 16" Steel
Repeat steps 2 & 3 for remainder of legs. ! Rod.
Step 5:
Once all legs have been attached to table top % Iy 3 i
frame, leg tabs and cross braces attached S == g 1 4"% 18" ¥
turn the table right side up. . deep holes. | |
Step 6 JEPJ . Step8: Place table in desired location,
Each seat fits on the "L" bracing of 2 legs. | mark thr?ugl'l center hole of tabs.
Align the holes and attach the seats to "L" bracing. — ———/ Dig4-4"x18 'deep holes. Line tabs
Repeat until all seat have been completed. [\ — ) . upto holes. Slide each rod through
L . tabs and fill hole with concrete.



